ST. XAVIER'S SENIOR SECONDARY SCHOOL, DELHI-54

Class : 5 FINAL UNIT TEST 2014-2015 Marks : 20
Date : 24.11.14 ENGLISH Time : 45 Mins.
Note: All the answers to be done on the answer sheet.

1. Answer the following questions :- (1x2=2)
a) Why has Bose been called a ‘pioneer’ ?
b) Why does the poet feel that we have no time to ‘stand and stare’ ?
2. Answer these questions with reference to the context :- (1x2=2)
“This is not a laboratory, but a temple.”
a) Who said these words ?
b) When did the speaker say this ?
3. Complete the stanza :- (2)
No time to
nuts in grass.
4. What message does the poet wish to convey through the poem ‘Leisure’ ? (2)
5. Fill in the blanks with is /am/ are/ was/ were and the present participle of the verb in the
brackets :- (2x4=2)
a) Mother a cake for me today. (bake)
b) Amit dinner when I went to see him. (have)
C) The children a horror movie. (watch)
d) Yesterday the girls for the music fest in the auditorium. (practice)
6. Fill in the blanks with present perfect form or the past perfect form of the verbs in the
brackets : - (2x4=2)
a) Nitin a toast for breakfast. (eat)
b) The doctor us medicine. (give)
C) I my work when Alice came to see me. (finish)
d) They for a party yesterday. (go)
7. Punctuate the following sentences :- (V2x4=2)
a) i like to eat chocolate mango and vanilla ice cream.
b) what colours are there in a rainbow
8. Fill in the blanks with suitable interjections :- (V2x2=1)
a) I What a lovely dress !
b) I Tomorrow is a holiday.
9. Complete the similies using appropriate words :- (2x2=1)
a) As faint as .
b) As sweet as
10.  Write a paragraph of 8-10 lines on any important personality. (4)
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